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Simplifying Algebraic Expressions with
Rational Exponents

Simplify. Explain the reasoning.

z I
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SOLUTION
3 b = 8- 2. ) Using the power of a power law:
= {231%- a - B
= 247

b) {xiyz}(xzy‘l} = x2.x2. y*+ y~1 Use the product of powers law.

(Solution continues.) 4.6 Applying the Exponent Laws






Simplifying Algebraic Expressions with
Rational Exponents

2
bi
T Use the quotient of powers law.
b3

=2.47%.b? Write with a positive exponent.

(Solution continues.) 4.6 Applying the Exponent Laws




Simplifying Algebraic Expressions with
Rational Exponents
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d) — | = 55 LIS — | Simplify inside the brackets first.

25485h = p 2] Use the guatient of powers law.
Write with a positive exponent.
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4.6 Applying the Exponent Laws



Practice Problems...

Page 242-243

#9a,d, g #17
#10 b, f, g #19
#11 Db, C #21
#14 b #22
#15Db,d

#16 b, C
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Functions and Relations 112


Completing the Square


Express the following functions in standard form and state the vertex of each parabola.
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SOLUTIONS:







� EMBED Equation.3  ���
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